APPLICATION

Your Name(s)Jennifer Feder, Lauren Rahey, Wendy Lawrence, Courtney Kovac and Melissa Berger Date of Request:5/13/19

SUMMARY OF PROJECT (ONE PARAGRAPH) PLEASE INCLUDE WHO, WHAT, WHY & HOW

Our First grade students are active learners with diverse needs. Flexible seating gives students an opportunity to choose a seating area that allows them to focus. Students feel empowered when they have choices and flexible seating allows students to pick a seat that works best for them. The furniture and materials in this project will help provide a comfortable classroom environment for our students.

DETAILS OF PROJECT (INCLUDE PROJECT SPECIFICS, TARGETED POPULATION, COSTS, ETC.

Flexible Seating

25 (5 for each class)Stansport "Go Anywhere" Chair... Amazon \$34.99 each

20 (4 FOR EACH CLASS) THERAPIST'S CHOICE INFLATED AIR-FILLED STABILITY BALANCE DISC-BLUE AMAZON \$12.99

10 (2 for each class) Giantex Wobble Chair Adjustable-Height Active Learning Stool Sitting Balance Chair for Office Stand Up Desk (Black) Amazon \$62.99 each

15 (3 for each class) Gaiam Kids Stay-N-Play Children's Balance Ball - Flexible School Chair, Active Classroom Desk Seating with Stay-Put Stability Legs, Includes Air Pump Amazon \$19.98 each

EVALUATION (HOW WILL YOU MEASURE STUDENT GROWTH)

Student focus and attention will increase and they will be able to remain on task for longer periods of time. Instructional time will increase for our students.

I have discussed this with the following two colleagues: Lauren Rahey, Wendy Lawrence, Courtney Kovac, Jennifer Maicher and Melissa Berger

NAME: Windy Faulence

NAME: MOLOSA BUMM

Please attach any additional information that would assist the CPEF in making a determination as to your Grant Proposal.

TOTAL GRANT AMOUNT REQUESTED: \$ 2,064.15 with Amazon prime

Total Grant including \$2,182.10 Shipping & Handling

	All •		Prin	ne VIdeo Stream movies & TV sho
	Buy Again Browsing History *		EN Helio, jen + Account	nt & Lists - Orders Prime - Car
	Get up to \$30 off your eligible MEMBERSHIP EWARDS Get up to \$30 off your eligible of \$60 or more when you Membership Rewards poi American Express. Limited-time offer, Terms and of	use nts from	Learn more	Subtotal (70 items): \$2,064.15 This order contains a gift Proceed to checkout
Shopping	Cart			or
(3,47) 53		Price	Quantity	Sign in to turn on 1-Click ordering.
	Gaiam Kids Stay-N-Play Children's Balance Ball - Flexible School Chair, Active Classroom Desk Seating with Stay-Put Stability Legs, Includes Air Pump, Blue, 45cm In Stock This is a gift Learn more Delete Save for later Compare with similar items	\$19.98	15	Sponsored Products related to items in your cart Wiggle Seat Inflatable 171 \$24.99 See all buying options WOBBLE STOOL AIR 15
	Therapist's Choice Inflated Air-Filled Stability Balance Disc-PURPLE In Stock This is a gift Learn more Delete Save for later Compare with similar items	\$12.99	20	\$59.99 See all buying options Trideer Inflated Stability 85 \$17.99 See all buying options
T	Giantex Wobble Chair Adjustable- Height Active Learning Stool Sitting Balance Chair for Office Stand Up Desi (Black) In Stock Shipped from: Giantex Gift options not available. Learn more Delete Save for later	\$62.99 k	10	\$100.00 See all buying options
	Stansport "Go Anywhere" Chair (Green) In Stock Shipped from: Nasco Gift options not available. Learn more Delete Save for later	\$34.99	25	

Subtotal (70 items): \$2,064.15

Saved for later (66 items)



Honeywell Safes & Door Locks - 30 Minute Fire Safe \$70.51 Waterproof Filing Safe Box Chest (fits Letter and A4 Files), Medium, 1106

FREE Delivery for Prime members

Delete Move to Cart Move to Wish List

Compare with similar items

Your Name(s)_Valerie Lydon	Date of Request: May 1, 2019
SUMMARY OF PROJECT (ONE PARAGRAPH	I) PLEASE INCLUDE WHO, WHAT, WHY & HOW
throughout the school year and is geared toward 6-8 grade stud	e, a language arts magazine. The magazine consists of 8 issues dents.We really enjoyed using this magazine last year, especially forms or genres in terms of their approaches to similar themes and
	opular editing activities, videos that support visual learning, and age arts magazine will help students gain a deeper understanding of the author's purpose, trace arguments, reflect on how individual
DETAILS OF PROJECT (INCLUDE PROJECT SE	PECIFICS, TARGETED POPULATION, COSTS, ETC.
The subscription costs \$9.70 per student, and we will need the be \$1,261. With shipping and handling, the total cost will be \$1,	130 magazines for the entire Sixth Grade. The sub total cost would ,387.10.
EVALUATION (HOW WILL YO	U MEASURE STUDENT GROWTH)
Scholastic Scope meets Common Core State Standards. This lar Language Arts. Using these magazines as authentic texts will al- Listening, and Language.	
In each teacher's guide, there is a breakdown of which standard	ls each article and activity supports.
There are performance tasks in each issue that are designed for learned. For example, an essay, a video, a poster, etc.	students to demonstrate their understanding of what they've
I have discussed this with the following four colleagues:	
NAME:_Jill Biddle	NAME:_Sharon Angelucci
NAME:_Mellissa Sakimura	NAME:_Jen Ancelo
	ould assist the CPEF in making a determination as to nt Proposal.

Here is the website for the magazine: http://scope.scholastic.com/

http://scope.scholastic.com/
TOTAL GRANT
AMOUNT
REQUESTED:
\$1387.10

Please submit completed Grant applications to: Sheino@chesterfieldschool.com and thecpef@gmail.com

Chesterfield Township School HEALTH OFFICE REPORT

Date: June 1, 2019

Student Visits:	Category	Number
	First Aid	211
	Medications	390
	Medical	290
	Other	80
	Counseling	2
	Health Screenings	0
	Health screenings for I&RS or CST	1
	Head lice checks	0
	DYFS	2
	Staff Visits	10
	Parent Communication	195
	Documentation of records	0

Health Office Visits: Total: 1181	Per Day: 56
-----------------------------------	-------------

Communicable Diseases:	Disease	Number of cases
	Strep Throat	5
	Conjunctivitis	1.
	Lice	0
	Flu	0
	Impetigo	0
	Ringworm	0
	Chicken Pox	0

Accident Reports	0
Students on daily medication / treatment	18
Telephone Calls to parents for illness or injury at school	195
Attendance Meeting as Attendance Officer	0
Special Services – I&RS, IEP, 504 meetings attended by nurse	1
Telephone calls to Poison Control	0
Students Out of District	4
DYFS	2
Home Visits	0
Students on Homebound Instruction	0

Comments:

- Kindergarten Screening
- Finalizing inventory and supply orders
- 4 trips
- Transition of nurses

School Nurse: Marylyn Campanella, BSN,RN,CSN	Marylyn Campanella
Charmaine Ramos, MSEd, BSN, RN	Charmaine Ramos

Emergency Drill Log for 2018-2019 School Year

Month	Date	Type of Drill
	L.L. 12 2010	Fire Drill
July	July 12, 2018	
	July 18, 2018	Fire Drill
September	September 19, 2018	Bus Evacuation Drill
	September 21, 2018	Fire Drill
	September 27, 2018	Lock Down Drill Code In
October	October 2, 2018	Fire Drill
	October 30, 2018	Bomb Threat Drill
November	November 2, 2018	Evacuation Drill
	November 19, 2018	Fire Drill
December	December 6, 2018	Fire Drill
	December 13, 2018	Bomb Threat Drill
January	January 4, 2019	Fire Drill
	January 9, 2019	Bomb Threat Drill
February	February 27, 2019	Fire Drill
	February 28, 2019	Lock Down Drill
March	March 14, 2019	Fire Drill
	March 29, 2019	Lock Down Drill
April	April 16, 2019	Fire Drill
	April 29, 2019	Lock Down Drill
May	May 21, 2019	Fire Drill
	May 31, 2019	Evacuation Drill
June	June 3, 2019	Fire Drill
	June 11, 2019	Bus Evacuation Drill
	,	

FACILITY REPORT

June 11, 2019

- EVERYTHING IS SET FOR GRADUATION. WE WERE ABLE TO BORROW EXTRA CHAIRS FROM CROSSWICKS AND CHESTERFIELD FIRE HOUSES.
- LED LIGHTING PROJECT STILL GOING WELL.
- SOLAR PANELS ON ROOF ARE BEING CLEANED.
- DIAMOND CONSTRUCTION WILL BE HERE ON THE 24TH TO START CONCRETE PROJECT UP FRONT.
- HAVE A FUN AND SAFE SUMMER.

Robert Carter
Building and Grounds Supervisor

	Location	Building	Order By Status, Location Deferred By Request Date	Target Completion Date	Labor	Tota
Priority	Assigned To	Area Description	Reason Days Aged	Actual Completion Date	Hours	Cost
Craft		Area Number	Deferred Until Created Date/Time	Last Status Change Date		
Descriptio	on		Action Taken			
Requeste	r Name					
Status:	Closed Work	k Orders				
12962	30 Saddle Way		5/31/2019		1	\$31.1
Medium	Pingitor, Larry	Office		5/31/2019		
General M	Maintenance	b 214	5/31/2019 8:31:35 AM	6/11/2019		
3 blinds n	eed to be installed o	on hallway windows	installed blinds as requested			
Lori Wisni	iewski	•				
12963	30 Saddle Way		5/31/2019		0.25	\$7.7
Medium	Pingitor, Larry	Media Center		5/31/2019		
Custodial		203	5/31/2019 10:16:52 AM	6/11/2019		
the library dead bug	spiders have been ly on the bookshelves carcasses and web Thank you					
ciean up.	mank you					
	Meola					
Laura DiM	AS USS		5/29/2019		0.5	\$7.7
Laura DiM 12956	Meola	Computer Lab	5/29/2019	5/29/2019	0.5	\$7.7
Laura DiM 12956 Medium	neola 30 Saddle Way	Computer Lab 209	5/29/2019 5/29/2019 10:01:50 AM	5/29/2019 6/11/2019	0.5	\$7.7
Laura DiM 12956 Medium General M	neola 30 Saddle Way Carter, Robert	Al			0.5	\$7.7
Laura DiM 12956 Medium General M Out of han	Meola 30 Saddle Way Carter, Robert Maintenance and sanitizer	Al	5/29/2019 10:01:50 AM		0.5	\$7.7
Laura DiM 12956 Medium General M Out of han Angela Ma	Meola 30 Saddle Way Carter, Robert Maintenance and sanitizer	Al	5/29/2019 10:01:50 AM		0.5	
Laura DiM 12956 Medium General M Out of han Angela Ma 12939	Meola 30 Saddle Way Carter, Robert Maintenance and sanitizer	Al	5/29/2019 10:01:50 AM filled dispenser			
Laura DiM 12956 Medium General M Out of han Angela Ma 12939 Medium	Meola 30 Saddle Way Carter, Robert Maintenance and sanitizer anning 30 Saddle Way	Al	5/29/2019 10:01:50 AM filled dispenser	6/11/2019		
Laura DiM 12956 Medium General M Out of han Angela Ma 12939 Medium Heating/M	Meola 30 Saddle Way Carter, Robert Maintenance and sanitizer anning 30 Saddle Way Pingitor, Larry Mentilation /Air	Al	5/29/2019 10:01:50 AM filled dispenser 5/23/2019	6/11/2019 5/23/2019		
Laura DiM 12956 Medium General M Out of han Angela Ma 12939 Medium Heating/M Weekly - F to PM sch	Meola 30 Saddle Way Carter, Robert Maintenance and sanitizer anning 30 Saddle Way Pingitor, Larry Mentilation /Air PM Schedule created edule details.	209	5/29/2019 10:01:50 AM filled dispenser 5/23/2019 5/23/2019 12:57:27 AM	6/11/2019 5/23/2019		
Laura DiM 12956 Medium General M Out of han Angela Ma 12939 Medium Heating/M Weekly - F to PM sch	Meola 30 Saddle Way Carter, Robert Maintenance and sanitizer anning 30 Saddle Way Pingitor, Larry Mentilation /Air PM Schedule created edule details.	209	5/29/2019 10:01:50 AM filled dispenser 5/23/2019 5/23/2019 12:57:27 AM	6/11/2019 5/23/2019		\$7.7
Laura DiM 12956 Medium General M Out of han Angela Ma 12939 Medium Heating/M Weekly - F to PM scho Robert Ca 12944	Meola 30 Saddle Way Carter, Robert Maintenance and sanitizer anning 30 Saddle Way Pingitor, Larry Mentilation /Air PM Schedule created edule details.	209	5/29/2019 10:01:50 AM filled dispenser 5/23/2019 5/23/2019 12:57:27 AM water room pumps running ok	6/11/2019 5/23/2019 6/11/2019	0.25	\$7.7
Laura DiM 12956 Medium General M Out of han Angela Ma 12939 Medium Heating/V Weekly - F to PM school Robert Ca 12944	Meola 30 Saddle Way Carter, Robert Maintenance and sanitizer anning 30 Saddle Way Pingitor, Larry Pentilation /Air PM Schedule created edule details. arter 30 Saddle Way	209	5/29/2019 10:01:50 AM filled dispenser 5/23/2019 5/23/2019 12:57:27 AM water room pumps running ok	5/23/2019 6/11/2019 5/30/2019	0.25	\$7.7
Laura DiM 12956 Medium General M Out of han Angela Ma 12939 Medium Heating/M Weekly - F to PM sch Robert Ca 12944 Medium	Meola 30 Saddle Way Carter, Robert Maintenance and sanitizer anning 30 Saddle Way Pingitor, Larry Pentilation /Air PM Schedule created edule details. arter 30 Saddle Way	209 I on 1/9/2012 - Refer	5/29/2019 10:01:50 AM filled dispenser 5/23/2019 5/23/2019 12:57:27 AM water room pumps running ok 5/27/2019 2	5/23/2019 6/11/2019 5/30/2019 5/29/2019	0.25	\$7.76 \$7.76

Priority Craft	Assigned To	Area Description Area Number		Actual Completion Date ast Status Change Date	Hours	Costs
Description	on		Action Taken			
Requeste	r Name					
12945	30 Saddle Way		5/27/2019	5/30/2019	0.25	\$7.78
Medium	Pingitor, Larry		2	5/29/2019		
			5/27/2019 1:50:43 AM	6/11/2019		
	PM Schedule created M schedule details.	on 2/16/2011 -	Playground 2 no new issues found			
Robert Ca	irter					
12957	30 Saddle Way		5/30/2019		0.25	\$7.78
Medium	Pingitor, Larry			5/30/2019		
Heating/V	entilation /Air		5/30/2019 2:57:50 AM	6/11/2019		
	PM Schedule created edule details.	on 1/9/2012 - Refer	water room pumps were ok			
Robert Ca	ırter					
12958	30 Saddle Way		5/30/2019		0.25	\$7.78
Medium	Pingitor, Larry			5/30/2019		
Heating/V	entilation /Air		5/30/2019 2:57:51 AM	6/11/2019		
THE RESIDENCE OF THE PARTY.	PM Schedule created edule details.	on 1/9/2012 - Refer	fire pump room no issues found			
Robert Ca	rter					
12960	30 Saddle Way		5/30/2019		0.5	\$11.21
Medium	Carter, Robert	Lower Level	1	5/31/2019		
Custodial		Girl's Bathroom	5/30/2019 2:01:26 PM	6/11/2019		
reporting	el Girls Bathroom - what looks to be vorn level girl's bathroom	nit in the first stall of	jack cleaned up area			
mike mcc	ann					
12918	30 Saddle Way		5/13/2019			\$0.00
Medium	Pingitor, Larry			5/13/2019		
Equipmen	nt Maintenance		5/13/2019 1:20:54 AM	6/11/2019		
	M Schedule created	4/44/2042	steamer delimed by kitchen staff			

6/11/2019 12:39:29 PM Page 2 of 11

WOID	Location	Dates:5/1/2019 - 5/31/2019 Building		Target Completion Date	Labor	Tota
Priority	Assigned To	Area Description		Actual Completion Date	Hours	Cost
Craft		Area Number		Last Status Change Date		
Descriptio			Action Taken			
Requeste	r Name					
12919	30 Saddle Way		5/13/2019			\$0.00
Medium	Pingitor, Larry		10	5/23/2019		
			5/13/2019 1:20:54 AM	6/11/2019		
0.00	PM Schedule created PM schedule details.	on 2/27/2012 -	generator no test needed at this time			
Robert Ca	arter					
12920	30 Saddle Way		5/13/2019		0.25	\$7.78
Medium	Pingitor, Larry			5/13/2019		
Landscap			5/13/2019 1:20:55 AM	6/11/2019		
Telegraphic August August August (1997)	Para de la composição d	0/40/2042	grass was ok no issues found			
	PM Schedule created PM schedule details.	on 9/10/2012 -	grass was ok no issues round			
Robert Ca						
12921	30 Saddle Way		5/14/2019		0.25	\$7.78
Medium	Pingitor, Larry	Classroom		5/14/2019		
Custodial		B116	5/14/2019 9:28:15 AM	6/11/2019		
	vel dispenser in our c ty. Need paper towels anytime		put new roll of towels in dispenser			
and empt Available: mike mcc	y. Need paper towels anytime cann					A
and empt Available: mike mcc	y. Need paper towels anytime	. Thanks! Time	put new roll of towels in dispenser 5/14/2019		0.25	\$7.7
and empt Available: mike mcc 12923	y. Need paper towels anytime cann			5/15/2019	0.25	\$7.70
and empt Available:	ty. Need paper towels anytime cann 30 Saddle Way	. Thanks! Time	5/14/2019	5/15/2019 6/11/2019	0.25	\$7.78
and empt Available: mike mcc 12923 Medium Plumbing My water f for the wa	ty. Need paper towels anytime cann 30 Saddle Way	Music Room A-260 s enough pressure	5/14/2019 1		0.25	\$7.78
and empt Available: mike mcc 12923 Medium Plumbing My water f for the wa Time Avai	ty. Need paper towels anytime cann 30 Saddle Way Pingitor, Larry fountain no longer ha tter to go high enough	Music Room A-260 s enough pressure	5/14/2019 1 5/14/2019 12:59:03 PM		0.25	\$7.78
and empt Available: mike mcc 12923 Medium Plumbing My water f for the wa Time Avai	ty. Need paper towels anytime ann 30 Saddle Way Pingitor, Larry fountain no longer ha ater to go high enough	Music Room A-260 s enough pressure	5/14/2019 1 5/14/2019 12:59:03 PM		0.25	\$7.78 \$7.78
and empt Available: mike mcc 12923 Medium Plumbing My water f for the wa Time Avai Gwendoly	ty. Need paper towels anytime ann 30 Saddle Way Pingitor, Larry fountain no longer ha ater to go high enough ilable: any yn mccreary	Music Room A-260 s enough pressure	5/14/2019 1 5/14/2019 12:59:03 PM adjusted water presser		with 2004 and	
and empt Available: mike mcc 12923 Medium Plumbing My water f for the wa Time Avai Gwendoly 12924	ty. Need paper towels anytime ann 30 Saddle Way Pingitor, Larry fountain no longer ha ater to go high enough ilable: any yn mccreary 30 Saddle Way Pingitor, Larry	Music Room A-260 s enough pressure n to drink from.	5/14/2019 1 5/14/2019 12:59:03 PM adjusted water presser 5/14/2019	6/11/2019	with 2004 and	
and empt Available: mike mcc 12923 Medium Plumbing My water f for the wa Time Avai Gwendoly 12924 Medium Pest Cont	ty. Need paper towels anytime ann 30 Saddle Way Pingitor, Larry fountain no longer ha ater to go high enough ilable: any yn mccreary 30 Saddle Way Pingitor, Larry trol	Music Room A-260 s enough pressure to drink from.	5/14/2019 1 5/14/2019 12:59:03 PM adjusted water presser 5/14/2019 1 5/14/2019 4:51:49 PM	6/11/2019 5/15/2019	with 2004 and	
and empt Available: mike mcc 12923 Medium Plumbing My water f for the wa Time Avai Gwendoly 12924 Medium Pest Cont	ty. Need paper towels anytime cann 30 Saddle Way Pingitor, Larry fountain no longer hatter to go high enough ilable: any yn mccreary 30 Saddle Way Pingitor, Larry trol	Music Room A-260 s enough pressure to drink from.	5/14/2019 1 5/14/2019 12:59:03 PM adjusted water presser 5/14/2019	6/11/2019 5/15/2019	with 2004 and	
and empt Available: mike mcc 12923 Medium Plumbing My water f for the wa Time Avai Gwendoly 12924 Medium Pest Cont There are Melissa C	ty. Need paper towels anytime cann 30 Saddle Way Pingitor, Larry fountain no longer hatter to go high enough ilable: any yn mccreary 30 Saddle Way Pingitor, Larry trol e ants on my desk.	Music Room A-260 s enough pressure to drink from.	5/14/2019 1 5/14/2019 12:59:03 PM adjusted water presser 5/14/2019 1 5/14/2019 4:51:49 PM out ant bait by window on floor	6/11/2019 5/15/2019	0.25	\$7.76
and empt Available: mike mcc 12923 Medium Plumbing My water f for the wa Time Avai Gwendoly 12924 Medium Pest Cont There are Melissa C 12926	ty. Need paper towels anytime ann 30 Saddle Way Pingitor, Larry fountain no longer hatter to go high enough ilable: any yn mccreary 30 Saddle Way Pingitor, Larry trol e ants on my desk. Chou 30 Saddle Way	Music Room A-260 s enough pressure to drink from.	5/14/2019 1 5/14/2019 12:59:03 PM adjusted water presser 5/14/2019 1 5/14/2019 4:51:49 PM	6/11/2019 5/15/2019 6/11/2019	with 2004 and	\$7.7
and empt Available: mike mcc 12923 Medium Plumbing My water f for the wa Time Avai Gwendoly 12924 Medium Pest Cont There are Melissa C 12926 Medium	ty. Need paper towels anytime ann 30 Saddle Way Pingitor, Larry fountain no longer hater to go high enough ilable: any yn mccreary 30 Saddle Way Pingitor, Larry trol ants on my desk. Chou 30 Saddle Way Pingitor, Larry	Music Room A-260 s enough pressure to drink from.	5/14/2019 1 5/14/2019 12:59:03 PM adjusted water presser 5/14/2019 1 5/14/2019 4:51:49 PM out ant bait by window on floor	5/15/2019 6/11/2019 5/16/2019	0.25	\$7.7
and empt Available: mike mcc 12923 Medium Plumbing My water f for the wa Time Avai Gwendoly 12924 Medium Pest Cont There are Melissa C 12926 Medium Heating/V	y, Need paper towels anytime ann 30 Saddle Way Pingitor, Larry fountain no longer ha ater to go high enough ilable: any yn mccreary 30 Saddle Way Pingitor, Larry trol ants on my desk. Chou 30 Saddle Way Pingitor, Larry //entilation /Air	Music Room A-260 s enough pressure n to drink from. Classroom 224	5/14/2019 1 5/14/2019 12:59:03 PM adjusted water presser 5/14/2019 1 5/14/2019 4:51:49 PM out ant bait by window on floor 5/16/2019	6/11/2019 5/15/2019 6/11/2019	0.25	
and empt Available: mike mcc 12923 Medium Plumbing My water f for the wa Time Avai Gwendoly 12924 Medium Pest Cont There are Melissa C 12926 Medium Heating/V Weekly - F	ty. Need paper towels anytime ann 30 Saddle Way Pingitor, Larry fountain no longer hater to go high enough ilable: any yn mccreary 30 Saddle Way Pingitor, Larry trol ants on my desk. Chou 30 Saddle Way Pingitor, Larry	Music Room A-260 s enough pressure n to drink from. Classroom 224	5/14/2019 1 5/14/2019 12:59:03 PM adjusted water presser 5/14/2019 1 5/14/2019 4:51:49 PM out ant bait by window on floor	5/15/2019 6/11/2019 5/16/2019	0.25	\$7.76

6/11/2019 12:39:29 PM

Laura DiMeola

WOID Priority Craft	Location Assigned To	Building Area Description Area Number	Deferred By Reason Deferred Until	Days Aged	Target Completion Date Actual Completion Date Last Status Change Date	Labor Hours	Tota Cost
Descripti			Action Taken				
Requeste	r Name						
12946	30 Saddle Way			5/27/2019			\$0.00
Medium	Pingitor, Larry				5/27/2019		
Equipme	nt Maintenance			5/27/2019 1:50:43 AM	6/11/2019		
10 m	PM Schedule created PM schedule details.	on 1/11/2012 -	Steemers de lin	ned by kitchen staff			
Robert Ca	arter						
12947	30 Saddle Way			5/27/2019			\$0.00
Medium	Pingitor, Larry			3	5/30/2019		
				5/27/2019 1:50:44 AM	6/11/2019		
	PM Schedule created PM schedule details.	on 2/27/2012 -	Generator test w	rith load run time 248.2			
Robert Ca	arter						
12948	30 Saddle Way			5/27/2019		0.75	\$23.35
Medium	Pingitor, Larry			4	5/31/2019		
Landscap	ing			5/27/2019 1:50:44 AM	6/11/2019		
	PM Schedule created PM schedule details.	on 9/10/2012 -	Court yard gras	s was cut			
Robert Ca	arter						
12949	30 Saddle Way			5/28/2019		0.25	\$7.78
Medium	Pingitor, Larry	Classroom		1	5/29/2019		
Custodial		B116		5/28/2019 9:15:33 AM	6/11/2019		
	nts are off in both the on the lower level. To		both light switch on after changin		back on electrician forgot	to turn the	m
mike mcc							
12954	30 Saddle Way			5/28/2019		0.25	\$7.78
Medium	Pingitor, Larry	Media Center		1	5/29/2019		
Carpentry	6	203		5/28/2019 3:47:44 PM	6/11/2019		
shelves.	lease have about 8 s We are moving some to add a few more s	books around and	made up 8 shelf	pins			
July like		monos. mank jou					

6/11/2019 12:39:29 PM Page 4 of 11

WOID	Location	Building	Order By Status, Location Deferred By Request Date	e Target Completion Date	Labor	Tota
Priority	Assigned To	Area Description	Reason Days Age	d Actual Completion Date	Hours	Costs
Craft		Area Number	Deferred Until Created Date/Tim	e Last Status Change Date		
Descripti	on		Action Taken			
Requeste	r Name					
12879	30 Saddle Way		5/1/201	9 5/31/2019	0.75	\$23.35
Medium	Pingitor, Larry			5/1/2019		
			5/1/2019 4:49:56 A	M 5/8/2019		
Monthly - details.	Fire Extiguishers - Ref	fer to PM schedule	fire extinguishers checked out ok			
Robert Ca	arter					
12880	30 Saddle Way		5/1/201	9	0.25	\$7.78
Medium	Pingitor, Larry			5/1/2019		
Pumps			5/1/2019 4:49:57 A	M 5/8/2019		
	PM Schedule created o	on 1/12/2012 -	pump was running ok			
Robert Ca	arter					
12881	30 Saddle Way		5/1/201	9	0.5	\$15.57
	American Company of the Company of Company			5/1/2019		
Medium	Pingitor, Larry			3/1/2019		
Medium Pumps	Pingitor, Larry		5/1/2019 4:49:57 A			
Pumps Monthly-	Pingitor, Larry PM Schedule created of PM schedule details.	on 1/12/2012 -	5/1/2019 4:49:57 A greased pumps running ok			
Pumps Monthly-	PM Schedule created o PM schedule details. arter	on 1/12/2012 -	2. 10			
Pumps Monthly - Refer to F	PM Schedule created o	on 1/12/2012 -	2. 10	M 5/8/2019	0.25	\$7.78
Pumps Monthly - Refer to F Robert Ca	PM Schedule created o PM schedule details. arter	on 1/12/2012 -	greased pumps running ok	M 5/8/2019	0.25	\$7.78
Pumps Monthly - Refer to F Robert Ca 12882	PM Schedule created o PM schedule details. arter 30 Saddle Way	on 1/12/2012 -	greased pumps running ok	9 5/1/2019	0.25	\$7.78
Pumps Monthly - Refer to F Robert Ca 12882 Medium Monthly -	PM Schedule created o PM schedule details. arter 30 Saddle Way		greased pumps running ok 5/1/201	9 5/1/2019	0.25	\$7.78
Pumps Monthly - Refer to F Robert Ca 12882 Medium Monthly - Refer to F	PM Schedule created of PM schedule details. arter 30 Saddle Way Pingitor, Larry PM Schedule created of PM schedule details.		greased pumps running ok 5/1/2019 4:49:58 A	9 5/1/2019	0.25	\$7.78
Pumps Monthly - Refer to F Robert Ca 12882 Medium Monthly - Refer to F	PM Schedule created of M schedule details. arter 30 Saddle Way Pingitor, Larry PM Schedule created of M schedule details.		greased pumps running ok 5/1/2019 4:49:58 A	9 5/1/2019 M 5/8/2019	0.25	
Pumps Monthly - Refer to F Robert Ca 12882 Medium Monthly - Refer to F Robert Ca	PM Schedule created of M schedule details. arter 30 Saddle Way Pingitor, Larry PM Schedule created of M schedule details.		greased pumps running ok 5/1/201 5/1/2019 4:49:58 A fuel in generator tank 812 gallons	9 5/1/2019 M 5/8/2019		
Pumps Monthly- Refer to F Robert Ca 12882 Medium Monthly- Refer to F Robert Ca 12883	PM Schedule created of PM schedule details. arter 30 Saddle Way Pingitor, Larry PM Schedule created of PM schedule details. arter 30 Saddle Way		greased pumps running ok 5/1/201 5/1/2019 4:49:58 A fuel in generator tank 812 gallons	9 5/1/2019 M 5/8/2019 9 5/1/2019		
Pumps Monthly- Refer to F Robert Ca 12882 Medium Monthly- Refer to F Robert Ca 12883 Medium Monthly-	PM Schedule created of PM schedule details. arter 30 Saddle Way Pingitor, Larry PM Schedule created of PM schedule details. arter 30 Saddle Way	on 1/26/2012 -	greased pumps running ok 5/1/201 5/1/2019 4:49:58 A fuel in generator tank 812 gallons 5/1/201	9 5/1/2019 M 5/8/2019 9 5/1/2019		
Pumps Monthly- Refer to F Robert Ca 12882 Medium Monthly- Refer to F Robert Ca 12883 Medium Monthly- Refer to F	PM Schedule created of M schedule details. arter 30 Saddle Way Pingitor, Larry PM Schedule created of M schedule details. arter 30 Saddle Way Pingitor, Larry PM Schedule details.	on 1/26/2012 -	greased pumps running ok 5/1/201 5/1/2019 4:49:58 A fuel in generator tank 812 gallons 5/1/2019 4:49:58 A	9 5/1/2019 M 5/8/2019 9 5/1/2019		
Pumps Monthly- Refer to F Robert Ca 12882 Medium Monthly- Refer to F Robert Ca 12883 Medium Monthly-	PM Schedule created of M schedule details. arter 30 Saddle Way Pingitor, Larry PM Schedule created of M schedule details. arter 30 Saddle Way Pingitor, Larry PM Schedule details.	on 1/26/2012 -	greased pumps running ok 5/1/201 5/1/2019 4:49:58 A fuel in generator tank 812 gallons 5/1/2019 4:49:58 A	9 5/1/2019 M 5/8/2019 9 5/1/2019 M 5/8/2019		\$7.78
Pumps Monthly- Refer to F Robert Ca 12882 Medium Monthly- Refer to F Robert Ca 12883 Medium Monthly- Refer to F Robert Ca 12884	PM Schedule created of M schedule details. arter 30 Saddle Way Pingitor, Larry PM Schedule created of M schedule details. arter 30 Saddle Way Pingitor, Larry PM Schedule created of M schedule details. arter 30 Saddle Way Pingitor, Larry	on 1/26/2012 -	5/1/2019 4:49:58 A fuel in generator tank 812 gallons 5/1/2019 4:49:58 A solar readings for april 445995	9 5/1/2019 M 5/8/2019 9 5/1/2019 M 5/8/2019	0.25	\$7.78
Pumps Monthly - Refer to F Robert Ca 12882 Medium Monthly - Refer to F Robert Ca 12883 Medium Monthly - Refer to F Robert Ca Robert Ca Robert Ca Robert Ca	PM Schedule created of PM schedule details. arter 30 Saddle Way Pingitor, Larry PM Schedule created of PM schedule details. arter 30 Saddle Way Pingitor, Larry PM Schedule created of PM schedule created of PM schedule details. arter 30 Saddle Way PM Schedule created of PM schedule details. arter 30 Saddle Way	on 1/26/2012 -	5/1/2019 4:49:58 A fuel in generator tank 812 gallons 5/1/2019 4:49:58 A solar readings for april 445995	9 5/1/2019 M 5/8/2019 M 5/8/2019 M 5/8/2019	0.25	\$7.78
Pumps Monthly- Refer to F Robert Ca 12882 Medium Monthly- Refer to F Robert Ca 12883 Medium Monthly- Refer to F Robert Ca 12884 Medium Yearly- P	PM Schedule created of PM schedule details. arter 30 Saddle Way Pingitor, Larry PM Schedule created of PM schedule details. arter 30 Saddle Way Pingitor, Larry PM Schedule created of PM schedule created of PM schedule details. arter 30 Saddle Way PM Schedule created of PM schedule details. arter 30 Saddle Way	on 1/26/2012 - on 1/30/2012 -	5/1/2019 4:49:58 A fuel in generator tank 812 gallons 5/1/2019 4:49:58 A solar readings for april 445995	9 5/1/2019 M 5/8/2019 M 5/8/2019 M 5/8/2019	0.25	\$7.78 \$7.78

6/11/2019 12:39:29 PM Page 5 of 11

WOID	Location	Building	70 A 20 A	Target Completion Date	Labor Hours	Tota Cost
Priority Craft	Assigned To	Area Description Area Number	5 (5)	Actual Completion Date Last Status Change Date	110410	
Oran Descripti	on	A ea Number	Action Taken	Last Status Change Date		
Requeste			Action taken			
12885	30 Saddle Way		5/1/2019		0.75	\$23.35
Medium	Pingitor, Larry		6	5/7/2019		
Pest Cont			5/1/2019 4:49:59 AM	5/8/2019		
7.0	PM Schedule created PM schedule details.	on 9/25/2012 -	ipm no findings			
Robert Ca	arter					
12886	30 Saddle Way		5/1/2019			\$0.00
Medium	Pingitor, Larry			5/1/2019		
			5/1/2019 4:50:00 AM	5/8/2019		
Refer to P	PM Schedule created PM schedule details.	on 12/3/2012 -	missing shingles replaced by contracto	rs no new issues found at th	nistime	
Robert Ca 12888	AND THE RESIDENCE OF THE PARTY		5/1/2019		2	\$62.26
130 전 전 120 전 1214 - 120 전	30 Saddle Way				2	\$02.20
	Di					
Medium	Pingitor, Larry		40 5/1/2019 4:50:01 AM	6/10/2019 6/11/2019		
Monthly - Refer to F	PM Schedule created PM schedule details.	on 5/22/2018 -		6/11/2019		
Monthly- Refer to F Robert Ca	PM Schedule created PM schedule details. arter	on 5/22/2018 -	5/1/2019 4:50:01 AM	6/11/2019	0.25	\$7.7
Monthly-	PM Schedule created PM schedule details. arter 30 Saddle Way	on 5/22/2018 - Classroom	5/1/2019 4:50:01 AM geo vault. pumped on may 7th. and the	6/11/2019	0.25	\$7.7
Monthly - Refer to F Robert Ca 12889 Medium	PM Schedule created PM schedule details. arter 30 Saddle Way Carter, Robert		5/1/2019 4:50:01 AM geo vault. pumped on may 7th. and the	6/11/2019 ne 9th.	0.25	\$7.7
Monthly - Refer to F Robert Ca 12889 Medium Equipmen	PM Schedule created PM schedule details. arter 30 Saddle Way Carter, Robert nt Maintenance	Classroom 221	5/1/2019 4:50:01 AM geo vault. pumped on may 7th. and the 5/1/2019	6/11/2019 ne 9th. 5/1/2019	0.25	\$7.7
Monthly - Refer to F Robert Ca 12889 Medium Equipmen	PM Schedule created PM schedule details. arter 30 Saddle Way Carter, Robert nt Maintenance	Classroom 221	5/1/2019 4:50:01 AM geo vault. pumped on may 7th. and th 5/1/2019 5/1/2019 9:23:28 AM	6/11/2019 ne 9th. 5/1/2019	0.25	\$7.7
Monthly - Refer to F Robert Ca 12889 Medium Equipmen OUr wate Sue Wood	PM Schedule created PM schedule details. arter 30 Saddle Way Carter, Robert nt Maintenance	Classroom 221	5/1/2019 4:50:01 AM geo vault. pumped on may 7th. and th 5/1/2019 5/1/2019 9:23:28 AM	6/11/2019 ne 9th. 5/1/2019	0.25	0.000
Monthly - Refer to F Robert Ca 12889 Medium Equipmen OUr wate Sue Wood	PM Schedule created PM schedule details. arter 30 Saddle Way Carter, Robert nt Maintenance or fountain is not worki	Classroom 221	5/1/2019 4:50:01 AM geo vault. pumped on may 7th. and the 5/1/2019 5/1/2019 9:23:28 AM adjusted pressure on fountain	6/11/2019 ne 9th. 5/1/2019	6756556000	0.000
Monthly - Refer to F Robert Ca 12889 Medium Equipmen OUr wate Sue Wood 12892 Medium	PM Schedule created PM schedule details. arter 30 Saddle Way Carter, Robert nt Maintenance or fountain is not working druff 30 Saddle Way	Classroom 221	5/1/2019 4:50:01 AM geo vault. pumped on may 7th. and the 5/1/2019 5/1/2019 9:23:28 AM adjusted pressure on fountain	6/11/2019 ne 9th. 5/1/2019 5/8/2019	6756556000	0.000
Monthly - Refer to F Robert Ca 12889 Medium Equipmen OUr wate Sue Wood 12892 Medium Heating/V	PM Schedule created PM schedule details. arter 30 Saddle Way Carter, Robert nt Maintenance or fountain is not working druff 30 Saddle Way Pingitor, Larry	Classroom 221 ing properly	5/1/2019 4:50:01 AM geo vault. pumped on may 7th. and the 5/1/2019 5/1/2019 9:23:28 AM adjusted pressure on fountain 5/2/2019	6/11/2019 ne 9th. 5/1/2019 5/8/2019	6756556000	\$7.76 \$7.76
Monthly - Refer to F Robert Ca 12889 Medium Equipmen OUr wate Sue Wood 12892 Medium Heating A Weekly - I to PM sch	PM Schedule created PM schedule details. arter 30 Saddle Way Carter, Robert nt Maintenance or fountain is not working druff 30 Saddle Way Pingitor, Larry //entilation /Air PM Schedule created medule details. arter	Classroom 221 ing properly	5/1/2019 4:50:01 AM geo vault. pumped on may 7th. and the 5/1/2019 5/1/2019 9:23:28 AM adjusted pressure on fountain 5/2/2019 1 5/2/2019 2:24:36 AM water room pumps are running ok	6/11/2019 ne 9th. 5/1/2019 5/8/2019	0.25	\$7.7
Monthly - Refer to F Robert Ca 12889 Medium Equipmer OUr wate Sue Wood 12892 Medium Heating/V Weekly - I to PM sch	PM Schedule created PM schedule details. arter 30 Saddle Way Carter, Robert Int Maintenance In fountain is not working druff 30 Saddle Way Pingitor, Larry /entilation /Air PM Schedule created medule details.	Classroom 221 ing properly	5/1/2019 4:50:01 AM geo vault. pumped on may 7th. and the 5/1/2019 5/1/2019 9:23:28 AM adjusted pressure on fountain 5/2/2019 1 5/2/2019 2:24:36 AM	6/11/2019 ne 9th. 5/1/2019 5/8/2019	6756556000	\$7.7
Monthly-Refer to F Robert Ca 12889 Medium Equipmen OUr wate Sue Wood 12892 Medium Heating/V Weekly-I to PM sch Robert Ca 12893	PM Schedule created PM schedule details. arter 30 Saddle Way Carter, Robert nt Maintenance or fountain is not working druff 30 Saddle Way Pingitor, Larry //entilation /Air PM Schedule created medule details. arter	Classroom 221 ing properly	5/1/2019 4:50:01 AM geo vault. pumped on may 7th. and the 5/1/2019 5/1/2019 9:23:28 AM adjusted pressure on fountain 5/2/2019 1 5/2/2019 2:24:36 AM water room pumps are running ok	6/11/2019 ne 9th. 5/1/2019 5/8/2019	0.25	\$7.7
Monthly - Refer to F Robert Ca 12889 Medium Equipmen OUr wate Sue Wood 12892 Medium Heating/A Weekly - I to PM sch Robert Ca 12893 Medium	PM Schedule created PM schedule details. arter 30 Saddle Way Carter, Robert Int Maintenance In fountain is not workidruff 30 Saddle Way Pingitor, Larry /entilation /Air PM Schedule created nedule details. arter 30 Saddle Way	Classroom 221 ing properly	5/1/2019 4:50:01 AM geo vault. pumped on may 7th. and the 5/1/2019 5/1/2019 9:23:28 AM adjusted pressure on fountain 5/2/2019 1 5/2/2019 2:24:36 AM water room pumps are running ok	6/11/2019 ne 9th. 5/1/2019 5/8/2019 5/3/2019	0.25	0.000
Monthly - Refer to F Robert Ca 12889 Medium Equipmer OUr wate Sue Wood 12892 Medium Heating/V Weekly - I to PM sch Robert Ca 12893 Medium Heating/V Weekly - I Weekly - I	PM Schedule created PM schedule details. arter 30 Saddle Way Carter, Robert Int Maintenance In fountain is not working druff 30 Saddle Way Pingitor, Larry Ventilation /Air PM Schedule created medule details. arter 30 Saddle Way Pingitor, Larry	Classroom 221 ing properly on 1/9/2012 - Refer	5/1/2019 4:50:01 AM geo vault. pumped on may 7th. and the 5/1/2019 5/1/2019 9:23:28 AM adjusted pressure on fountain 5/2/2019 1 5/2/2019 2:24:36 AM water room pumps are running ok	6/11/2019 ne 9th. 5/1/2019 5/8/2019 5/8/2019	0.25	\$7.7

6/11/2019 12:39:29 PM Page 6 of 11

Craft Area Number Deferred Until Action Taken	WOID Priority	Location Assigned To	Building Area Description	than the contract of the contr	Target Completion Date Actual Completion Date	Labor Hours	Total Costs
12894 30 Saddle Way 5/2/2019 5/2/2019 5/2/2019	Craft	2.77	Area Number	Deferred Until Created Date/Time	Last Status Change Date		
12894 30 Saddle Way 5/2/2019 5/2/2019 5/2/2019	Description			Action Taken			
Modium Carter, Robert Classroom 5/2/2019 Sec. 37 AM 5/8/2019	Requeste	r Name					
Section Pielase one extra student desk brought to my room? The helight doesn't matter. Thank you. Classroom Siz/2019 O.25 \$7.7	12894	30 Saddle Way		5/2/2019		0.25	\$7.78
Can I please one extra student desk brought to my room? The height doesn't matter. Thank you. Liz Schauer 12895 30 Saddle Way 5/2/2019 0.25 \$7.7 Medium Pingitor, Larry Classroom 5/2/2019 10:29:13 AM 5/8/2019 7 alsed table 5/2/2019 10:29:13 AM 5/8/2019 7 alsed table 5/2/2019 10:29:13 AM 5/8/2019 7 alsed table 6 which we take the kidney table in 3W as soon as possible. Or if you have another smaller individual table that can be elevated all day. Can you please elevate the kidney table in 3W as soon as possible. Or if you have another smaller individual table that can be elevated we can put that in the classroom for her. annemarie petty 12896 30 Saddle Way 5/2/2019 0.25 \$7.7 Medium Pingitor, Larry Classroom 1 5/3/2019 0.25 \$7.7 Medium Pingitor, Larry Classroom the cafetaria and a piece of hardware broke off. I have the piece in my classroom. Courtney Kovac 12927 30 Saddle Way 5/16/2019 0.25 \$7.7 Medium Pingitor, Larry 5/16/2019 0.25 \$7.7 Medium Pingitor, Larry 5/16/2019 12:51:39 AM 6/11/2019 Medium Pingitor, Larry 5/16/2019 12:51:39 AM 6/11/2019 Medium Pingitor, Larry 5/16/2019 5/23/2019 0.25 \$7.7 Medium Pingitor, Larry 3 5/20/2019 5/23/2019 0.25 \$7.7 Medium Pingitor, Larry 3 5/23/2019 5/20/2019 1:26:55 AM 6/11/2019 Medium Pingitor, Larry 3 5/23/2019 5/20/2019 1:26:55 AM 6/11/2019 Medium Pingitor, Larry 3 5/20/2019 1:26:55 AM 6/11/2019 Medium Pingitor, Larry	Medium	Carter, Robert	Classroom		5/2/2019		
Liz Schauer Liz Schauer Liz Schauer Sc	General M	faintenanœ	229	5/2/2019 8:26:37 AM	5/8/2019		
Medium Pingitor, Larry Classroom 5/2/2019 0.25 \$7.7 Medium Pingitor, Larry Classroom 5/2/2019 5/2/2019 10:29:13 AM 5/8/2019 We have a student in a wheelchair and her leg must be elevated all day. Can you please elevate he kidney table in 3W as soon as possible. Or if you have another smaller individual table that can be elevated we can put that in the classroom for her. annemarie petty 12896 30 Saddle Way 5/2/2019 0.25 \$7.7 Medium Pingitor, Larry Classroom 1 5/3/2019 10:33:48 AM 5/8/2019 As tudent in my class was hanging on the stall door in the girls' bathroom across from the cafeteria and a piece of hardware broke off. I have the piece in my classroom. Courtney Kovac 12927 30 Saddle Way 5/16/2019 0.25 \$7.7 Medium Pingitor, Larry 5/16/2019 12:51:39 AM 6/11/2019 Weekly - PM Schedule created on 1/9/2012 - Refer or PM schedule details. Robert Carter 12931 30 Saddle Way 5/20/2019 5/23/2019 0.25 \$7.7 Medium Pingitor, Larry 3 5/20/2019 5/20/2019 5/23/2019 0.25 \$7.7 Medium Pingitor, Larry 3 5/20/2019 5	0.00			delivered desk			
Medium Pingitor, Larry Classroom Custodial B230 5/2/2019 10:29:13 AM 5/8/2019 We have a student in a wheelchair and her leg must be elevated all day. Can you please elevate he kidney table in 3W as soon as possible. Or if you have another smaller individual table that can be elevated we can put that in the classroom for her. annemarie petty 12896 30 Saddle Way 5/2/2019 0.25 \$7.7 Medium Pingitor, Larry Classroom 1 5/3/2019 Astudent in my class was hanging on the stall door in the girls' bathroom across from the cafeteria and a piece of hardware broke off. I have he piece in my classroom. Courtney Kovac 12927 30 Saddle Way 5/16/2019 0.25 \$7.7 Medium Pingitor, Larry 5/16/2019 12:51:39 AM 6/11/2019 Weekly - PM Schedule created on 1/9/2012 - Refer or PM schedule details. Robert Carter 12931 30 Saddle Way 5/20/2019 5/23/2019 0.25 \$7.7 Medium Pingitor, Larry 3 5/20/2019 5/23/2019 0.25 \$7.7 Medium Pingitor, Larry 3 5/20/2019 5/23/2019 0.25 \$7.7 Medium Pingitor, Larry 3 5/23/2019	Liz Schau	er					
Custodial B230 5/2/2019 10:29:13 AM 5/8/2019 We have a student in a wheelchair and her leg must be elevated all day. Can you please elevate the kidney table in 3W as soon as possible. Or if you have another smaller individual table that can be elevated we can put that in the classroom for her. 12896 30 Saddle Way 5/2/2019 0.25 \$7.7 Medium Pingitor, Larry Classroom 1 5/3/2019 A student in my class was hanging on the stall door in the glifs' bathroom across from the cafeteria and a piece of hardware broke off. I have the piece in my classroom. Courtney Kovac 12927 30 Saddle Way 5/16/2019 0.25 \$7.7 Medium Pingitor, Larry 5/16/2019 0.25 \$7.7 Medium Pingitor, Larry 5/16/2019 5/23/2019 Weekly - PM Schedule created on 1/9/2012 - Refer to PM Schedule details. Robert Carter 12931 30 Saddle Way 5/20/2019 5/23/2019 0.25 \$7.7 Medium Pingitor, Larry 3 5/23/2019 5/23/2019 0.25 \$7.7	12895	30 Saddle Way		5/2/2019		0.25	\$7.78
We have a student in a wheelchair and her leg must be elevated all day. Can you please elevate the kidney table in 3W as soon as possible. Or if you have another smaller individual table that can be elevated we can put that in the classroom for her. 12896 30 Saddle Way 5/2/2019 0.25 \$7.7 Medium Pingitor, Larry Classroom 1 5/3/2019 Astudent in my class was hanging on the stall door in the girls' bathroom across from the cafeteria and a piece of hardware broke off. I have the piece in my classroom. Courtney Kovac 12927 30 Saddle Way 5/16/2019 5/16/2019 Medium Pingitor, Larry 5/16/2019 0.25 \$7.7 Medium Pingitor, Larry 5/16/2019 12:51:39 AM 6/11/2019 Weekly - PM Schedule created on 1/9/2012 - Refer to PM Schedule details. Robert Carter 12931 30 Saddle Way 5/20/2019 5/23/2019 0.25 \$7.7 Medium Pingitor, Larry 3 5/23/2019 5/23/2019 0.25 \$7.7 Medium Pingitor, Larry 5/16/2019 12:51:39 AM 6/11/2019 Weekly - PM Schedule created on 2/16/2011 - Playground 1 pulled trash no new issues found at this time	Medium	Pingitor, Larry	Classroom		5/2/2019		
must be elevated all day. Can you please elevate the kidney table in 3W as soon as possible. Or if you have another smaller individual table that can be elevated we can put that in the classroom for her. annemarie petty 12896 30 Saddle Way 5/2/2019 0.25 \$7.3 Medium Pingitor, Larry Classroom 1 5/3/2019 General Maintenance B246 5/2/2019 10:33:48 AM 5/8/2019 A student in my class was hanging on the stall door in the girls' bathroom across from the cafeteria and a piece of hardware broke off. I have the piece in my classroom. Courtney Kovac 12927 30 Saddle Way 5/16/2019 0.25 \$7.7 Medium Pingitor, Larry 5/16/2019 12:51:39 AM 6/11/2019 Weekly - PM Schedule created on 1/9/2012 - Refer to PM schedule details. Robert Carter 12931 30 Saddle Way 5/20/2019 5/23/2019 0.25 \$7.7 Medium Pingitor, Larry 3 5/23/2019 5/23/2019 0.25 \$7.7 Medium Pingitor, Larry 3 5/23/2019 0.25 \$7.7	Custodial		B230	5/2/2019 10:29:13 AM	5/8/2019		
12896 30 Saddle Way 5/2/2019 0.25 \$7.7	must be e he kidney you have a be elevate her.	elevated all day. Can y y table in 3W as soon another smaller indiv ed we can put that in t	you please elevate as possible. Or if idual table that can	raised table			
Medium Pingitor, Larry Classroom 1 5/3/2019				5/2/2019		0.25	\$7.78
A student in my class was hanging on the stall door in the girls' bathroom across from the cafeteria and a piece of hardware broke off. I have the piece in my classroom. Courtney Kovac 12927 30 Saddle Way 5/16/2019 0.25 \$7.7 Medium Pingitor, Larry 5/16/2019 12:51:39 AM 6/11/2019 Weekly - PM Schedule created on 1/9/2012 - Refer to PM schedule details. Robert Carter 12931 30 Saddle Way 5/20/2019 5/23/2019 0.25 \$7.7 Medium Pingitor, Larry 3 5/23/2019 5			Classmom		5/3/2019	0.20	Ψ1
As tudent in my class was hanging on the stall door in the girls' bathroom across from the cafeteria and a piece of hardware broke off. I have the piece in my classroom. Courtney Kovac 12927 30 Saddle Way 5/16/2019 0.25 \$7.7 Medium Pingitor, Larry 5/16/2019 12:51:39 AM 6/11/2019 Weekly - PM Schedule created on 1/9/2012 - Refer to PM schedule details. Robert Carter 12931 30 Saddle Way 5/20/2019 5/23/2019 0.25 \$7.7 Medium Pingitor, Larry 5/20/2019 1:26:55 AM 6/11/2019 Weekly - PM Schedule created on 2/16/2011 - playground 1 pulled trash no new issues found at this time							
12927 30 Saddle Way 5/16/2019 0.25 \$7.7	A student door in the cafeteria a the piece	in my class was han e girls' bathroom acro and a piece of hardwa in my classroom.	ging on the stall	22 2-252 12 122 17			
Medium Pingitor, Larry 5/16/2019 Heating/Ventilation /Air 5/16/2019 12:51:39 AM 6/11/2019 Weekly - PM Schedule created on 1/9/2012 - Refer to PM schedule details. fire pump room no issues at this time Robert Carter 12931 30 Saddle Way 5/20/2019 5/23/2019 0.25 \$7.7 Medium Pingitor, Larry 3 5/23/2019 5/23/2019 5/20/2019 1:26:55 AM 6/11/2019 Weekly - PM Schedule created on 2/16/2011 - playground 1 pulled trash no new issues found at this time	87.00			5/16/2019		0.25	\$7.78
Heating/Ventilation /Air 5/16/2019 12:51:39 AM 6/11/2019 Weekly - PM Schedule created on 1/9/2012 - Refer to PM schedule details. Robert Carter 12931 30 Saddle Way 5/20/2019 5/23/2019 0.25 \$7.7 Medium Pingitor, Larry 3 5/23/2019 5/20/2019 1:26:55 AM 6/11/2019 Weekly - PM Schedule created on 2/16/2011 - playground 1 pulled trash no new issues found at this time	Medium				5/16/2019		
Weekly - PM Schedule created on 1/9/2012 - Refer to PM schedule details. Robert Carter 12931 30 Saddle Way 5/20/2019 5/23/2019 0.25 \$7.7 Medium Pingitor, Larry 3 5/23/2019 5/23/2019 Meekly - PM Schedule created on 2/16/2011 - playground 1 pulled trash no new issues found at this time	Heating/V			5/16/2019 12:51:39 AM			
12931 30 Saddle Way 5/20/2019 5/23/2019 0.25 \$7.7 Medium Pingitor, Larry 3 5/23/2019 5/20/2019 1:26:55 AM 6/11/2019 Weekly - PM Schedule created on 2/16/2011 - playground 1 pulled trash no new issues found at this time			on 1/9/2012 - Refer	fire pump room no issues at this time			
Medium Pingitor, Larry 3 5/23/2019 5/20/2019 1:26:55 AM 6/11/2019 Weekly - PM Schedule created on 2/16/2011 - playground 1 pulled trash no new issues found at this time	Robert Ca	arter					
5/20/2019 1:26:55 AM 6/11/2019 Weekly - PM Schedule created on 2/16/2011 - playground 1 pulled trash no new issues found at this time	12931	30 Saddle Way		5/20/2019	5/23/2019	0.25	\$7.78
Weekly - PM Schedule created on 2/16/2011 - playground 1 pulled trash no new issues found at this time	Medium	Pingitor, Larry		3	5/23/2019		
				5/20/2019 1:26:55 AM	6/11/2019		
	0.50 99 (0.50)		on 2/16/2011 -	playground 1 pulled trash no new issue	s found at this time		

Priority Craft	Location Assigned To	Building Area Description Area Number	CONTRACTOR	et Completion Date ual Completion Date Status Change Date	Labor Hours	Tota Cost
Descripti	on		Action Taken			
Requeste	r Name					
12932	30 Saddle Way		5/20/2019	5/23/2019	0.25	\$7.78
Medium	Pingitor, Larry		3	5/23/2019		
			5/20/2019 1:26:56 AM	6/11/2019		
	PM Schedule created o	on 2/16/2011 -	playground 2 trash was pulled no new proble	ems at this time		
Robert Ca	arter					
12933	30 Saddle Way		5/20/2019			\$0.00
Medium	Pingitor, Larry		10	5/30/2019		
			5/20/2019 1:26:57 AM	6/11/2019		
	PM Schedule created o	on 2/27/2012 -	no test needed at this time			
Robert Ca	arter					
12934	30 Saddle Way		5/20/2019		0.25	\$7.7
Medium	Pingitor, Larry		3	5/23/2019		
Landscap	oing		5/20/2019 1:26:57 AM	6/11/2019		
	PM Schedule created of PM schedule details.	on 9/10/2012 -	court yard grass was cut. no issues found			
Robert Ca						
12936	30 Saddle Way		5/21/2019		0.25	\$7.7
Medium	Pingitor, Larry	Classroom	8	5/29/2019		
Refrigera	tion	112A	5/21/2019 10:54:34 AM	6/11/2019		
cool it do	is very warm. I had to b wn. It's been on "cool" s warm in here. Time a	since January and	adjusted temp.			
	halifa					
Melody KI	30 Saddle Way		5/23/2019		0.25	\$7.78
				5/23/2019		
Melody KI 12940	Pingitor, Larry					
Melody Ki 12940 Medium	Pingitor, Larry Ventilation /Air		5/23/2019 12:57:27 AM	6/11/2019		
Melody Kl 12940 Medium Heating∧ Weekly - I		on 1/9/2012 - Refer	5/23/2019 12:57:27 AM fire pump room no issues found	6/11/2019		
Melody Kl 12940 Medium Heating∧ Weekly - I	Ventilation /Air PM Schedule created onedule details.	on 1/9/2012 - Refer		6/11/2019		
Melody KI 12940 Medium Heating/Veekly-Ito PM sch	Ventilation /Air PM Schedule created onedule details.	on 1/9/2012 - Refer		6/11/2019	0.5	\$15.5
Melody KI 12940 Medium Heating/N Weekly - I to PM sch Robert Ca	Ventilation /Air PM Schedule created onedule details. arter	on 1/9/2012 - Refer Classroom	fire pump room no issues found	6/11/2019 5/23/2019	0.5	\$15.5
Melody KI 12940 Medium Heating/N Weekly - I to PM sch Robert Ca 12941	Ventilation /Air PM Schedule created onedule details. arter 30 Saddle Way Pingitor, Larry		fire pump room no issues found		0.5	\$15.5
Melody KI 12940 Medium Heating/N Weekly - I to PM sch Robert Ca 12941 Medium Custodial	Ventilation /Air PM Schedule created onedule details. arter 30 Saddle Way Pingitor, Larry	Classroom 222	fire pump room no issues found 5/23/2019	5/23/2019 6/11/2019	0.5	\$15.5

WOID	Location	Building	Deferred By Request Date	Target Completion Date	Labor	Total
Priority	Assigned To	Area Description		Actual Completion Date	Hours	Costs
Craft		Area Number	Deferred Until Created Date/Time	Last Status Change Date		
Descripti			Action Taken			
Requeste	er Name					
12942	30 Saddle Way		5/23/2019		0.5	\$7.78
Medium	Carter, Robert	Classroom		5/23/2019		
Plumbing		2333	5/23/2019 10:32:40 AM	6/11/2019		
	taff bathroom outside Time Available: ASAP	of room 331 is	unclogged toilet			
Judy Sch	wartz					
12897	30 Saddle Way		5/3/2019		1	\$18.27
Medium	Cardona, Dan	Hallway/Corridor		5/3/2019		
General N	Maintenance		5/3/2019 8:07:21 PM	5/8/2019		
main floo	rs need to be scrubbe	d.	dan scrubbed atrium and two side halls	i.		
Dan Card	lona					
12898	30 Saddle Way		5/6/2019	5/9/2019	0.25	\$7.78
Medium	Pingitor, Larry		3	5/9/2019		
			5/6/2019 3:08:49 AM	6/11/2019		
10000 men	PM Schedule created o PM schedule details.	on 2/16/2011 -	playground 1 pulled trash no new issue	s found at this time		
Robert Ca	25.02017/		5/0/0040	E/0/0040	0.05	67.7 0
12899	30 Saddle Way		5/6/2019	5/9/2019	0.25	\$7.78
Medium	Pingitor, Larry		4	5/10/2019		
			5/6/2019 3:08:49 AM	6/11/2019		
	PM Schedule created o PM schedule details.	on 2/16/2011 -	playground 2 no issues found trash was	s found		
Robert Ca						
12900	30 Saddle Way		5/6/2019		0.75	\$23.35
Medium	Pingitor, Larry		4	5/10/2019		
			5/6/2019 3:08:50 AM	6/11/2019		
	PM Schedule created o PM schedule details.	on 2/27/2012 -	generator test with load run time 247.8			
Robert Ca	arter					
12901	30 Saddle Way		5/6/2019		0.75	\$23.35
Medium	Pingitor, Larry		4	5/10/2019		
	ping		5/6/2019 3:08:50 AM	6/11/2019		
Landscap						
Weekly-I	PM Schedule created o	on 9/10/2012 -	court yard grass was cut			

6/11/2019 12:39:29 PM Page 9 of 11

WOID	Location	Dates:5/1/2019 - 5/31/2019 Building	Deferred By	STATE OF THE PARTY	Target Completion Date	Labor Hours	Tota Cost
Priority	Assigned To	Area Description Area Number	Reason Deferred Until Cre	1.50	Actual Completion Date Last Status Change Date	110013	0032
Craft Descriptio	sm.	Area Number	Action Taken	ated Date/Time	Last Status Change Date		
Requester			Action laken				
				E/C/2010		0.25	\$7.7
12902	30 Saddle Way	95		5/6/2019		0.25	\$1.10
Medium	Pingitor, Larry	Classroom		1	5/7/2019		
Custodial		305	5/6/2	0197:49:15 AM	5/8/2019		
	two bulletin boards ng on Wednesday 5/		covered board				
karen stryl	ker						
12910	30 Saddle Way			5/8/2019		0.25	\$7.78
Medium	Pingitor, Larry	Classroom		7	5/15/2019		
General M	laintenance	245	5/8/2	019 1:54:41 PM	6/11/2019		
	"desk" has a loose d Time Available: as		repaired table				
Jen Maich	er						
12911	30 Saddle Way			5/9/2019		0.25	\$7.7
Medium	Pingitor, Larry			1	5/10/2019		
Heating/Ve	entilation /Air		5/9/2	019 1:00:21 AM	6/11/2019		
	PM Schedule created edule details.	on 1/9/2012 - Refer	water room no issues	found at this time			
Robert Ca	arter						
12912	30 Saddle Way			5/9/2019		0.25	\$7.7
Medium	Pingitor, Larry			1	5/10/2019		
Heating/Ve	entilation /Air		5/9/2	019 1:00:22 AM	6/11/2019		
	PM Schedule created edule details.	on 1/9/2012 - Refer	fire pump room no iss	ues at this time			
Robert Ca	arter						
12916	30 Saddle Way			5/13/2019	5/16/2019	0.25	\$7.7
Medium	Pingitor, Larry			3	5/16/2019		
			5/13/2	019 1:20:53 AM	6/11/2019		
	PM Schedule created M schedule details.	on 2/16/2011 -	playground 1 no new p	problems at this t	ime		
Robert Ca	rter						
12917	30 Saddle Way			5/13/2019	5/16/2019	0.25	\$7.78
Medium	Pingitor, Larry			3	5/16/2019		
			5/13/2	019 1:20:53 AM	6/11/2019		
	PM Schedule created M schedule details.	on 2/16/2011 -	playground 2 no new p	oroblems at this t	me trash was pulled		
Robert Ca	arter						
	Work Orders 12:39:29 PM	Avg. Age of	fW0's 2	Total i	or Closed Work Orders	19.75	\$582.0 4 ge 10 of 1

Selected Date Range for Request Dates:5/1/2019 - 5/31/2019 Order By Status, Location

WOID

Location

Building

Deferred By

Request Date Target Completion Date Labor Days Aged Actual Completion Date Hours

Total Costs

Craft

Priority Assigned To **Area Description** Area Number

Reason **Deferred Until Action Taken**

Created Date/Time Last Status Change Date

Description

Requester Name

Count: 56 Work Orders

Avg. Age of WO's 2

Grand Total

19.75

\$582.04

Month	Total Generation (kWh) month end 2770	Monthly Generation (kWh)	Cumulative from March 2011	SREC's per month	SREC's Cumulative from March 2011	SREC's sold	Rate per SREC	Total Sale Amount	Date of Sale	Remaining SREC's to sell
ebruary, 2011		2770	(1) 10 10 10 10 10 10 10 10 10 10 10 10 10	CONTRACTOR OF THE PERSON OF TH	CALL CALL SERVICE	-	¢c20	\$3,100.00	9/8/11	
larch, 2011	8330	5560		5 6		5 6	\$620 \$620	100 200 200	9/8/11	
pril, 2011	12790	4460						\$3,720.00		
lay, 2011	18580	5790	25110	7	25	7	\$620	\$4,340.00	9/8/11	
ine, 2011	27880	9300	25110	7	25	7	\$100	\$700.00	6/1/12	
ıly, 2011	36008	8128	33238	8	33	8	\$100	\$800.00	6/1/12	
ugust, 2011	42832	6824	40062	6	39	6	\$100	\$600.00	6/1/12	
eptember, 2011	44594	1762	41824	1	40	1	\$100	\$100.00	6/1/12	
ctober, 2011	49840	5246	47070	5	45	5	\$100	\$500.00	6/1/12	
ovember, 2011	52780	2940	50010	3	48	3	\$100	\$300.00	6/1/12	
ecember, 2011	55662	2882	52892	3	51	3	\$100	\$300.00	6/1/12	
inuary, 2012	58390	2728	55620	3	54	3	\$100	\$300.00	6/1/12	
ebruary, 2012	62012	3622	59242	3	57	3	\$100	\$300.00	6/1/12	
larch, 2012	67228	5216	64458	5	62	5	\$100	\$500.00	6/1/12	
larch, 2012	72557		70707	2	64	2	\$122.50	\$245.00	5/28/13	
pril, 2012	73557	6329	70787	6	70	6	\$122.50	\$735.00	5/28/13	
lay, 2012	80249	6692	77479	7	77	7	\$122.50	\$857.50	5/28/13	
ine, 2012	86301	6052	83531	6	83	6	\$135.50	\$813.00	5/28/13	
ıly, 2012	92564	6263	89794	6	89	6	\$135.50	\$813.00	5/28/13	
ugust, 2012	98918	6354	96148	7	96	7	\$135.50	\$948.50	5/28/13	
eptember, 2012	103665	4747	100895	4	100	4	\$135.50	\$542.00	5/28/13	
ctober, 2012	106951	3286	104181	4	104	4	\$135.50	\$542.00	5/28/13	
ovember, 2012	109775	2824	107005	3	107	3	\$135.50	\$406.50	5/28/13	
ecember, 2012	111679	1904	108909	1	108	1	\$135.50	\$135.50	5/28/13	
inuary, 2013	114506	2827	111736	3	111	3	\$135.50	\$406.50	5/28/13	
ebruary, 2013	117268	2762	114498	3	114	3	\$135.50	\$406.50	12/4/13	
larch, 2013	120850	3582	118080	4	118	4	\$135.50	\$542.00	12/4/13	
pril, 2013	127875	7025 6951	125105	7	125	7	\$135.50	\$948.50	12/4/13	
lay, 2013	134826 141813	6987	132056 139043	7	132 139	7	\$135.50 \$140.00	\$948.50 \$980.00	12/4/13	
ine, 2013	146518	4705	143748	4	The second second		\$140.00	\$560.00	12/4/13	
ıly, 2013	75 0		THE RESERVE OF THE PARTY OF THE		143	4	1 1000 10 250	7/65 TG4923	77 - 8898 78 36	
ugust, 2013	152478	5960	149708	6	149	6	\$140.00	\$840.00	12/4/13	
eptember, 2013	158850	6372	156080	7	156	7	\$140.00	\$980.00	12/4/13	
ctober, 2013 ovember, 2013	161905 165060	3055	159135	3	159	3	\$140.00	\$420.00	12/4/13	
	100-200-200-200-200-200-200-200-200-200-	3155	162290	3	162	3	\$175.00	\$525.00	6/16/14	
ecember, 2013	166379 168122	1319	163609	1	163	1	\$175.00	\$175.00	6/16/14	
inuary, 2014	00000000000	1743	165352	2	165	2	\$175.00	\$350.00	6/16/14	
ebruary, 2014	169528	1406	166758	1	166	1	\$175.00	\$175.00	6/16/14	
larch, 2014	173999 179855	4471 5856	171229	5 6	171	6	\$175.00	\$875.00	6/16/14	
pril, 2014			177085		177		\$175.00	\$1,050.00	56 55	
lay, 2014	186024	6169 7772	183254	6	183	6	\$196.00	\$1,176.00	12/7/14	
ine, 2014	193796	7755500	191026	8	191	8	\$197.00	\$1,576.00	12/7/14	
ıly, 2014	200195	6399	197425	6	197	6	\$197.00	\$1,182.00	12/7/14	
ugust, 2014	205793 210414	5598 4621	203023 207644	6	203	6	\$197.00 \$197.00	\$1,182.00 \$788.00	12/7/14	
eptember, 2014		3898		4		4			12/7/14	
ovember, 2014	214312	2566	211542	4	211	3	\$197.00	\$788.00	12/7/14	
	216878		214108	3		3	\$228.50	\$685.50	6/17/15	
ecember, 2014	218810	1932	216040	2	216	2	\$228.50	\$457.00	6/17/15	
abruary, 2015	220903	2093	218133	2	218	2	\$228.50	\$457.00	6/17/15	
ebruary, 2015	223106	2203	220336	2	220	2	\$228.50	\$457.00	6/17/15	
larch, 2015	226883	3777	224113	4	224	4	\$228.50	\$914.00	6/17/15	
pril, 2015	232854	5971 on Meter Readings (53	230084	6	230	6	\$228.50	\$1,371.00	6/17/15	

(Users\acoover\Downloads\E+mon D-mon Meter Readings (53)

E+mon D-mon Meter Readings

lay, 2015	239646	6792	236876	6	236	6	\$258.00	\$1,548.00	12/1/15	
ine, 2015	245524	5878	242754	6	242	6	\$258.00	\$1,548.00	12/1/15	
ıly, 2015	252536	7012	249766	7	249	7	\$258.00	\$1,806.00	12/1/15	
ugust, 2015	259153	6617	256383	7	256	7	\$258.00	\$1,806.00	12/1/15	
eptember, 2015	263908	4755	261138	5	261	5	\$258.00	\$1,290.00	12/1/15	
ctober, 2015	268273	4365	265503	4	265	4	\$258.00	\$1,032.00	12/1/15	
ovember, 2015	271026	2753	268256	3	268	3	\$193.00	\$579.00	8/15/17	
ecember, 2015	273242	2216	270472	2	270	2	\$193.00	\$386.00	8/15/17	
inuary, 2016	275363	2121	272593	2	272	2	\$193.00	\$386.00	8/15/17	
ebruary, 2016	277983	2620	275213	3	275	3	\$193.00	\$579.00	8/15/17	
larch, 2016	283738	5755	280968	5	280	5	\$193.00	\$965.00	8/15/17	
pril, 2016	289130	5392	286360	6	286	6	\$193.00	\$1,158.00	8/15/17	
lay, 2016	294478	5348	291708	5	291	5	\$193.00	\$965.00	8/15/17	
ine, 2016	302274	7796	299504	8	299	8	\$195.00	\$1,560.00	8/15/17	
ıly, 2016	308004	5730	305234	6	305	6	\$195.00	\$1,170.00	8/15/17	
ugust, 2016	314445	6441	311675	6	311	6	\$195.00	\$1,170.00	8/15/17	
eptember, 2016	319354	4909	316584	5	316	5	\$195.00	\$975.00	8/15/17	
ctober, 2016	323364	4010	320594	4	320	4	\$195.00	\$780.00	8/15/17	
ovember, 2016	326569	3205	323799	3	323	3	\$195.00	\$585.00	8/15/17	
ecember, 2016	328851	2282	326081	3	326	3	\$195.00	\$585.00	8/15/17	
inuary, 2017	330377	1526	327607	1	327	1	\$195.00	\$195.00	8/15/17	
ebruary, 2017	333530	3153	330760	3	330	3	\$195.00	\$585.00	8/15/17	
larch, 2017	337510	3980	334740	4	334	4	\$195.00	\$780.00	8/15/17	
pril, 2017	342349	4839	339579	5	339	5	\$195.00	\$975.00	8/15/17	
lay, 2017	348015	5666	345245	6	345	6	\$195.00	\$1,170.00	8/15/17	
ine, 2017	354910	6895	352140	7	352	7	\$225.50	\$1,578.50	6/21/18	
ıly, 2017	360693	5783	357923	5	357	5	\$225.50	\$1,127.50	6/21/18	
ugust, 2017	367274	6581	364504	7	364	7	\$225.50	\$1,578.50	6/21/18	
eptember, 2017	371617	4343	368847	4	368	4	\$225.50	\$902.00	6/21/18	
ctober, 2017	375258	3641	372488	4	372	4	\$225.50	\$902.00	6/21/18	
ovember, 2017	378337	3079	375567	3	375	3	\$225.50	\$676.50	6/21/18	
ecember, 2017	380253	1916	377483	2	377	2	\$225.50	\$451.00	6/21/18	
inuary, 2018	382604	2351	379834	2	379	2	\$225.50	\$451.00	6/21/18	
ebruary, 2018	385186	2582	382416	3	382	3	\$225.50	\$676.50	6/21/18	
1arch, 2018	389701	4515	386931	4	386	4	\$225.50	\$902.00	6/21/18	
pril, 2018	393945	4244	391175	5	391	5	\$225.50	\$1,127.50	6/21/18	
1ay, 2018	399873	5928	397103	6	397			181 300 30		6
ıne, 2018	406148	6275	403378	6	403					6
ıly, 2018	412093	5945	409323	6	409					6
ugust, 2018	418417	6324	415647	6	415					6
eptember, 2018	421469	3052	418699	3	418					3
ctober, 2018	425118	3649	422348	4	422					4
ovember, 2018	427655	2537	424885	2	424					2
ecember, 2018	429732	2077	426962	2	426					2
inuary, 2019	432133	2401	429363	3	429					3
ebruary, 2019	435366	3233	432596	3	432					3
1arch, 2019	440432	5066	437662	5	437					5
pril, 2019	445995	5563	443225	6	443					6
1ay, 2019	452163	6168	449393		443					
otals						391		\$77,764.50		52
*0/2/12, undates	April and lung wit	th figures from CEPS	wohsita from 2	4 to 21 CDEC	١,	•	**			

^{*8/3/12:} updated April and June with figures from CEPS website from 24 to 21 SREC's